

# **CONDUCT PDMR Notification reference 00316515**

#### 1 - Details of the person discharging managerial responsibilities / person closely associated

Must complete either for a natural person or a legal person. If completing for a legal person, please include the legal form as provided for in the register where it is incorporated, if applicable.

Name of natural person Xiangyan Liao

Legal person

#### 2 - Reason for the notification

#### For persons discharging managerial responsibilities:

- The position occupied within the issuer or emission allowance market participant should be indicated e.g. CEO. CFO.

#### For persons closely associated with:

- An indication that the notification concerns a person closely associated with a person discharging managerial responsibilities;
- Name and position of the relevant person discharging managerial responsibilities

Position/status Supervisor Zheng Weili's spouse

Initial notification/amendment Initial Notification

#### 3 - Details of the issuer or emission allowance market participant

Full name of the entity

Ming Yang Smart Energy Group Limited

Legal Entity Identifier code 300300W76R6UJHEZL847

In accordance with ISO 17442 LEI code.

# 4 - Details of the transaction(s)

Details of the transaction(s): section to be repeated for (i) each type of instrument; (ii) each type of transaction; (iii) each date; and (iv) each place where transactions have been conducted

# Transaction(s) summary table

Date Of Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency		
2022-07-15	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan		
Nature Of Trans	saction:		Pri	ice	Volume	Total	
Purchase of ordi	nary A shares		35	5.02	2000	70040.00	
			Aggregated 35	5.02	2000	70040.00	
Date Of Fransaction	Financial Instrument	Identification Code	Place Of Transa	ction	Currency		
2022-07-15	A shares	601615	Shanghai Stock Exchange		CNY - Chi	nese Yuan	
Nature Of Trans	saction:		Pri	ice	Volume	Total	
Sale of ordinary	A shares			5.50	1000	35500.00	
2 J. J. Gramary			35	5.80	1000	35800.00	
			Aggregated 35	5.65	2000	71300.00	
Date Of Fransaction	Financial Instrument	Identification Code	Place Of Transa	ction	Currency		
2022-07-21	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan		
Nature Of Trans	saction:		Pri	ice	Volume	Total	
Purchase of ordi	nary A shares		32	2.18	300	9654.00	
	riary 71 oriaroo		32	2.40	500	16200.00	
			32	2.61	700	22827.00	
			Aggregated 32	2.454	1500	48681.00	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Transac	ction	Currency		
2022-08-04	A shares	601615	Shanghai Stock Exchange		CNY - Chi	nese Yuan	
Nature Of Trans	saction:		Pri	ice	Volume	Total	
Sale of ordinary	A shares			3.42	400	11368.00	
zo o. oraniary			Aggregated 28	3.42	400	11368.00	
Date Of	Financial Instrument	Identification Code	Place Of Transac	ction	Currency		
Transaction			- iaco or rianou		Janonoy		
			Shanghai Stock				

	A shares	601615	Exchange		CNY - Chinese Yuan	
Nature Of Tran	saction:			Price	Volume	Total
Purchase of ord	inary A shares			29.11	100	2911.00
	•		Aggregated	29.11	100	2911.00
Date Of	Financial Instrument	Identification Code	Diago Of Tree		0	
Transaction	Financial Instrument	Identification Code	Place Of Tran	isaction	Currency	
2022-11-23	A shares	601615	Shanghai Sto	ck	CNY - Chi	nese Yuan
Nature Of Tran	saction:			Price	Volume	Total
Sale of ordinary	A shares			27.85	1000	27850.00
,			Aggregated	27.85	1000	27850.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	nsaction	Currency	
2022-12-26	A shares	601615	Shanghai Sto	ck	CNY - Chi	nese Yuan
Nature Of Tran	saction:			Price	Volume	Total
Sale of ordinary	A shares			25.15	1000	25150.00
,				25.30	1000	25300.00
			Aggregated	25.225	2000	50450.00
Date Of				_		_
Transaction	Financial Instrument	Identification Code	Place Of Tran	nsaction	Currency	
2023-02-01	A shares	601615	Shanghai Stor	ck	CNY - Chi	nese Yuan
Nature Of Tran	saction:			D		
				Price	Volume	Total
Purchase of ord	inary A shares			27.40	Volume 500	<b>Total</b> 13700.00
Purchase of ord	inary A shares		Aggregated	27.40		
	inary A shares		Aggregated	27.40	500	13700.00
Purchase of ord  Date Of  Transaction	inary A shares  Financial Instrument	Identification Code	Aggregated Place Of Tran	27.40 27.40	500	13700.00
Date Of Transaction		Identification Code		27.40 27.40 nsaction	500 500 Currency	13700.00
Date Of	Financial Instrument  A shares		Place Of Tran	27.40 27.40 nsaction	500 500 Currency	13700.00 13700.00
Date Of Transaction 2023-03-02 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran	27.40 27.40 nsaction	500 500 Currency	13700.00 13700.00 nese Yuan
Date Of Transaction 2023-03-02 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran	27.40 27.40 nsaction	500 500 Currency CNY - Chi	13700.00 13700.00 nese Yuan Total 12470.00
Date Of Transaction 2023-03-02 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran	27.40 27.40  nsaction ck  Price 24.94 24.95	500 500 Currency CNY - Chi Volume 500	13700.00 13700.00 nese Yuan
Date Of Transaction 2023-03-02 Nature Of Tran Purchase of ord	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stor Exchange	27.40 27.40  nsaction ck  Price 24.94 24.95	500 500 Currency CNY - Chi Volume 500 1200	13700.00 13700.00 nese Yuan  Total 12470.00 29940.00
Date Of Transaction 2023-03-02	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stor Exchange	27.40 27.40  nsaction ck  Price 24.94 24.95 24.947	500 500 Currency CNY - Chi Volume 500 1200	13700.00 13700.00 nese Yuan  Total 12470.00 29940.00
Date Of Transaction 2023-03-02 Nature Of Tran Purchase of ord Date Of Transaction	Financial Instrument  A shares  saction: inary A shares	601615	Place Of Tran Shanghai Stor Exchange  Aggregated	27.40 27.40  nsaction ck  Price 24.94 24.95 24.947	500 500  Currency CNY - Chi  Volume 500 1200 1700  Currency	13700.00 13700.00 nese Yuan  Total 12470.00 29940.00
Date Of Transaction 2023-03-02 Nature Of Tran Purchase of ord	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares	601615	Place Of Tran Shanghai Stor Exchange  Aggregated  Place Of Tran Shanghai Stor	27.40 27.40  nsaction ck  Price 24.94 24.95 24.947	500 500  Currency CNY - Chi  Volume 500 1200 1700  Currency	13700.00 13700.00  nese Yuan  Total 12470.00 29940.00 42410.00
Date Of Transaction 2023-03-02 Nature Of Tran Purchase of ord Date Of Transaction 2023-03-02	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares saction:	601615	Place Of Tran Shanghai Stor Exchange  Aggregated  Place Of Tran Shanghai Stor	27.40 27.40  nsaction ck  Price 24.94 24.95 24.947  nsaction ck	500 500 Currency CNY - Chi Volume 500 1200 1700 Currency	13700.00 13700.00 13700.00  nese Yuan  Total 12470.00 29940.00 42410.00

Date Of Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency	
2023-04-06	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan	
Nature Of Tran	saction:			Price	Volume	Total
Purchase of ord	linary A shares			21.99	600	13194.00
. uronado or oro	mary / Charee		Aggregated	21.99	600	13194.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	nsaction	Currency	
2023-04-12	A shares	601615	Shanghai Stock Exchange		CNY - Chi	nese Yuan
Nature Of Tran	saction:			Price	Volume	Total
D	linary A shares			21.94	800	17552.00
Purchase of ord						
Purchase of ord	iniary 71 orianos			21.90	500	10950.00
Purchase of ord	initially 74 shares		Aggregated		500 <b>1300</b>	10950.00 <b>28502.00</b>
	midity / Variates		Aggregated			
Purchase of ord  Date Of  Transaction	Financial Instrument	Identification Code	Aggregated Place Of Tran	21.925		
Date Of		Identification Code		21.925	1300 Currency	
Date Of Transaction 2023-04-13	Financial Instrument A shares		Place Of Tran	21.925	1300 Currency	28502.00
Date Of Transaction 2023-04-13 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran	21.925	Currency CNY - Chi	28502.00
Date Of Transaction 2023-04-13 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran	21.925  nsaction ck  Price 21.54	Currency CNY - Chi	28502.00
Date Of Transaction	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stor Exchange	21.925  nsaction ck  Price 21.54 21.54	Currency CNY - Chi Volume 300	28502.00 nese Yuan Total 6462.00
Date Of Transaction 2023-04-13 Nature Of Tran Purchase of ord	Financial Instrument  A shares  saction: linary A shares	601615	Place Of Tran Shanghai Stor Exchange  Aggregated	Price 21.54 21.54	Currency CNY - Chi Volume 300 300 Currency	28502.00 nese Yuan Total 6462.00
Date Of Transaction 2023-04-13 Nature Of Tran Purchase of ord Date Of Transaction	Financial Instrument  A shares saction: linary A shares  Financial Instrument  A shares	601615	Place Of Tran Shanghai Store Exchange  Aggregated  Place Of Tran Shanghai Store	Price 21.54 21.54	Currency CNY - Chi Volume 300 300 Currency	28502.00 nese Yuan Total 6462.00 6462.00
Date Of Transaction 2023-04-13 Nature Of Tran Purchase of ord Date Of Transaction 2023-04-21	Financial Instrument  A shares saction: linary A shares  Financial Instrument  A shares saction:	601615	Place Of Tran Shanghai Store Exchange  Aggregated  Place Of Tran Shanghai Store	Price 21.54 21.54 ansaction	Currency CNY - Chi Volume 300 300 Currency CNY - Chi	28502.00 nese Yuan Total 6462.00 6462.00



# **PDMR Notification reference 00316528**

#### 1 - Details of the person discharging managerial responsibilities / person closely associated

Must complete either for a natural person or a legal person. If completing for a legal person, please include the legal form as provided for in the register where it is incorporated, if applicable.

Name of natural person

Dafang Xu

Legal person

#### 2 - Reason for the notification

#### For persons discharging managerial responsibilities:

- The position occupied within the issuer or emission allowance market participant should be indicated e.g. CEO. CFO.

#### For persons closely associated with:

- An indication that the notification concerns a person closely associated with a person discharging managerial responsibilities;
- Name and position of the relevant person discharging managerial responsibilities

Position/status

Supervisor Zheng Weili's mother (non

co-habited)

Initial notification/amendment

Amendment to prior notifications

Update the previous PDMR Notification

(reference No. 00316480).

#### 3 - Details of the issuer or emission allowance market participant

Full name of the entity Ming Yang Smart Energy Group Limited

**Legal Entity Identifier code** 300300W76R6UJHEZL847

In accordance with ISO 17442 LEI code.

# 4 - Details of the transaction(s)

Details of the transaction(s): section to be repeated for (i) each type of instrument; (ii) each type of transaction; (iii) each date; and (iv) each place where transactions have been conducted

#### Transaction(s) summary table

Date Of Transaction	Financial Instrument	Identification Code	Place Of Trans	saction	Currency	
2022-07-13	A shares	601615	Shanghai Stocl Exchange	k	CNY - Chinese Yuan	
Nature Of Trans	saction:		F	Price	Volume	Total
Sale of ordinary	A shares			33.33	1000	33330.00
			Aggregated	33.33	1000	33330.00
Date Of						
Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency	
2022-07-14	A shares	601615	Shanghai Stock Exchange		CNY - Chi	nese Yuan
Nature Of Trans	saction:		F	Price	Volume	Total
Sale of ordinary	A shares			34.50	1000	34500.00
·			Aggregated	34.50	1000	34500.00
D-1- 06						
Date Of Transaction	Financial Instrument	Identification Code	Place Of Trans	saction	Currency	
2022-07-19	A shares	601615	Shanghai Stocl Exchange	k	CNY - Chinese Yuan	
Nature Of Trans	saction:		F	Price	Volume	Total
Purchase of ordi	nary A shares			34.15	1200	40980.00
	,			33.75	200	6750.00
			Aggregated	34.093	1400	47730.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Trans	saction	Currency	
2022-08-11	A shares	601615	Shanghai Stocl Exchange	k	CNY - Chi	nese Yuan
Nature Of Trans	saction:		F	Price	Volume	Total
Purchase of ordi	nary A shares			28.78	1000	28780.00
	·		Aggregated	28.78	1000	28780.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Trans	saction	Currency	
2022-08-15	A shares	601615	Shanghai Stocl Exchange	k	CNY - Chi	nese Yuan

Nature Of Trans	saction:			Price	Volume	Total
Purchase of ordi	nary Δ shares			29.20	500	14600.00
Fulchase of ordi	nary A shares		Aggregated		500	14600.00
			7 iggi ogulou			
Date Of				_		_
Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
			Shanghai Stock			
2022-08-15	A shares 601615		Exchange		CNY - Chi	nese Yuan
Nature Of Trans	saction:			Price	Volume	Total
Sale of ordinary	A shares			29.52	500	14760.00
Sale of ordinary	A Sildles		Aggregated	29.52	500	14760.00
Date Of			DI OST		_	
Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
2022-08-23	A shares	601615	Shanghai Stoo	ck	CNY - Chi	nese Yuan
		33.3.0	Exchange		5 5	
Nature Of Trans	saction:			Price	Volume	Total
Purchase of ordi	nary A shares			29.30	400	11720.00
	,		Aggregated	29.30	400	11720.00
Date Of	Financial Instrument	Identification Code	Place Of Tran	eaction	Currency	
Transaction	i manciai mstrument	identification code	Tiace Of Trail	isaction	Currency	
2022-09-29	A shares	601615	Shanghai Stoo	ck	CNY - Chi	nese Yuan
			Exchange			
Nature Of Trans	saction:			Price	Volume	Total
Sale of ordinary	A shares			25.14	1600	40224.00
•			Aggregated	25.14	1600	40224.00
Date Of	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
Transaction			Changhai Star	al.	•	
2022-09-30	A shares	601615	Shanghai Stoo Exchange	CK	CNY - Chi	nese Yuan
Nature Of Trans						
Hature Or ITalis	woudii.			Price	Volume	Total
Purchase of ord	nary A shares			24.30	800	19440.00
				24.35	800	19480.00
			Aggregated	24.325	1600	38920.00
Date Of						
Date Of	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
Transaction			Shanghai Stoo	ck		
	A shares 601615		Exchange		CNY - Chi	nese Yuan
	A shares					
2022-10-12				Price	Volumo	Total
2022-10-12 Nature Of Trans	saction:			<b>Price</b> 25.20	Volume	<b>Total</b> 37800 00
2022-10-12 Nature Of Trans	saction:			25.20	1500	37800.00
Transaction 2022-10-12  Nature Of Trans Sale of ordinary	saction:			25.20 25.10		

Date Of Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency		
2022-10-14	A shares	601615	Shanghai Stoo Exchange	ck	CNY - Chinese Yuan		
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ordi	inary A shares			27.39	2000	54780.00	
			Aggregated	27.39	2000	54780.00	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency		
2022-10-18	A shares	601615	Shanghai Stock Exchange		CNY - Chi	nese Yuan	
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ordi	inary A shares			28.33	2000	56660.00	
	,		Aggregated	28.33	2000	56660.00	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency		
2022-10-18	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan		
Nature Of Trans	saction:			Price	Volume	Total	
Sale of ordinary	A shares			28.48	2000	56960.00	
			Aggregated	28.48	2000	56960.00	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency		
2022-10-21	A shares	601615	Shanghai Stoo Exchange	ck	CNY - Chinese Yuan		
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ordi	inary A shares			28.57	1200	34282.80	
			Aggregated	28.569	1200	34282.80	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency		
2022-11-23	A shares	601615	Shanghai Stoo Exchange	ck	CNY - Chinese Yuan		
Nature Of Trans	saction:			Price	Volume	Total	
Sale of ordinary	A shares			27.85	500	13925.00	
<del></del> ,				27.85	1000	27850.00	
			Aggregated	27.85	1500	41775.00	
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency		
2022-11-24	A shares	601615	Shanghai Stoo Exchange	ck	CNY - Chinese Yuan		

	saction:			Price	Volume	Total
Purchase of ord	inary A shares			27.40	1000	27400.00
Fulcilase of old	iliary A Stiales			27.32	500	13660.00
			Aggregated	27.373	1500	41060.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
2022-12-28	A shares	601615	Shanghai Stoo Exchange	ck	CNY - Chi	nese Yuan
Nature Of Tran	saction:			Price	Volume	Total
Purchase of ord	inary A shares			25.70	1000	25700.00
r drondoo or ord	mary / tonares		Aggregated	25.70	1000	25700.00
Date Of						
Transaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency	
2022-12-28	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan	
Nature Of Tran	saction:			Price	Volume	Total
Sale of ordinary	A shares			25.93	1000	25930.00
Sale of ordinary	A shares		Aggregated		1000 1000	25930.00 <b>25930.00</b>
	A shares		Aggregated			
Sale of ordinary  Date Of  Transaction	A shares  Financial Instrument	Identification Code	Aggregated Place Of Tran	25.93		
Date Of		Identification Code		25.93	1000 Currency	
Date Of Transaction 2023-02-01	Financial Instrument  A shares		Place Of Tran Shanghai Stoo Exchange	25.93	1000 Currency	25930.00
Date Of Transaction 2023-02-01 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	25.93	Currency CNY - Chin	25930.00
Date Of Transaction 2023-02-01 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	25.93 nsaction	Currency CNY - Chin	25930.00 nese Yuan Total 27450.00
Date Of Transaction 2023-02-01 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	exaction  Ck  Price  27.45	Currency CNY - Chin	25930.00 nese Yuan Total 27450.00 27400.00
Date Of Transaction 2023-02-01 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	25.93  nsaction  ck  Price 27.45 27.40 27.50	Currency CNY - Chin Volume 1000 1000	<b>Total</b> 27450.00 27500.00
Date Of Transaction 2023-02-01 Nature Of Tran Purchase of ord	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	25.93  nsaction  ck  Price 27.45 27.40 27.50	Currency CNY - Chin Volume 1000 1000 1000	<b>Total</b> 27450.00 27500.00
Date Of Transaction 2023-02-01 Nature Of Tran	Financial Instrument  A shares saction:		Place Of Tran Shanghai Stoo Exchange	25.93  Price 27.45 27.40 27.50 27.45	Currency CNY - Chin Volume 1000 1000 1000	25930.00
Date Of Transaction 2023-02-01 Nature Of Tran Purchase of ord  Date Of Transaction 2023-03-30	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares	601615	Place Of Tran Shanghai Stoo Exchange  Aggregated	25.93  Price 27.45 27.40 27.50 27.45	Currency  CNY - Chin  Volume  1000  1000  3000  Currency	<b>Total</b> 27450.00 27400.00 27500.00
Date Of Transaction 2023-02-01 Nature Of Tran Purchase of ord Date Of Transaction	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares	601615	Place Of Trans Shanghai Stoo Exchange  Aggregated  Place Of Trans Shanghai Stoo Exchange	25.93  nsaction  ck  Price 27.45 27.40 27.50 27.45	Currency  CNY - Chin  Volume  1000  1000  3000  Currency	25930.00 nese Yuan  Total 27450.00 27400.00 27500.00 82350.00
Date Of Transaction 2023-02-01  Nature Of Tran Purchase of ord  Date Of Transaction 2023-03-30  Nature Of Tran	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares saction:	601615	Place Of Trans Shanghai Stoo Exchange  Aggregated  Place Of Trans Shanghai Stoo Exchange	25.93  nsaction ck  Price 27.45 27.40 27.50 27.45  nsaction ck	Currency CNY - Chin  Volume 1000 1000 1000 Currency CNY - Chin	Total 27400.00 27500.00 82350.00 Total 2243.00
Date Of Transaction 2023-02-01 Nature Of Tran Purchase of ord  Date Of Transaction 2023-03-30	Financial Instrument  A shares saction: inary A shares  Financial Instrument  A shares saction:	601615	Place Of Trans Shanghai Stoo Exchange  Aggregated  Place Of Trans Shanghai Stoo Exchange	25.93  Price 27.45 27.40 27.50 27.45  Price Price	Currency  CNY - Chin  Volume  1000  1000  3000  Currency  CNY - Chin  Volume	Total 27450.00 27500.00 82350.00 nese Yuan Total



# CONDUCT AUTHORITY PDMR Notification reference 00316494

#### 1 - Details of the person discharging managerial responsibilities / person closely associated

Must complete either for a natural person or a legal person. If completing for a legal person, please include the legal form as provided for in the register where it is incorporated, if applicable.

Name of natural person

Dafang Xu

Legal person

#### 2 - Reason for the notification

#### For persons discharging managerial responsibilities:

- The position occupied within the issuer or emission allowance market participant should be indicated e.g. CEO. CFO.

#### For persons closely associated with:

- An indication that the notification concerns a person closely associated with a person discharging managerial responsibilities;
- Name and position of the relevant person discharging managerial responsibilities

Position/status

Supervisor Zheng Weili's mother (non

co-habited)

Initial notification/amendment

**Initial Notification** 

#### 3 - Details of the issuer or emission allowance market participant

Full name of the entity

Ming Yang Smart Energy Group Limited

**Legal Entity Identifier code** 

300300W76R6UJHEZL847
In accordance with ISO 17442 LEI code.

# 4 - Details of the transaction(s)

Details of the transaction(s): section to be repeated for (i) each type of instrument; (ii) each type of transaction; (iii) each date; and (iv) each place where transactions have been conducted

# Transaction(s) summary table

Date Of	Financial Instrument	Identification Code	Place Of Transaction		Currency		
Fransaction Pransaction			Shanahai Sta	ale			
2023-02-03	A shares	601615	Shanghai Sto	JK	CNY - Chinese Yuar		
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ord	inary A shares			26.91	400	10764.0	
				26.90	1000	26900.0	
			Aggregated	26.903	1400	37664.0	
Date Of	Financial Instrument	Identification Code	Place Of Trar	nsaction	Currency		
Transaction							
2023-02-17	A shares	601615	Shanghai Sto	ck 	CNY - Chi	nese Yuan	
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ord	inary A shares			25.64	1000	25640.0	
				25.31	600	15186.0	
			<b>Aggregated</b>	25.516	1600	40826.0	
Date Of Fransaction	Financial Instrument	Identification Code	Place Of Tran	saction	Currency		
2023-03-17	A shares	601615	Shanghai Sto	ck	CNY - Chinese Yuan		
Nature Of Trans	saction:			Price	Volume	Total	
Purchase of ord	inary A shares			22.31	1000	22310.0	
dichase of ord	mary / Gharos		Aggregated	22.31	1000	22310.0	
Date Of	Financial Instrument	Identification Code	Place Of Transaction		Currency		
Transaction				iodotioii	Currency		
	A shares	601615	Shanghai Stor		CNY - Chi	nese Yuan	
2023-03-28		601615				nese Yuan	
2023-03-28 Nature Of Trans	saction:	601615		ck	CNY - Chi	Total	
2023-03-28 Nature Of Trans	saction:	601615		Price	CNY - Chi	<b>Total</b> 22300.0	
2023-03-28 Nature Of Trans	saction:	601615		Price 22.30 22.34	CNY - Chin		
2023-03-28  Nature Of Trans  Purchase of ord	saction:	601615	Exchange	Price 22.30 22.34	Volume 1000 900	<b>Total</b> 22300.0 20107.8	
2023-03-28 Nature Of Trans	saction:	601615	Exchange	Price 22.30 22.34 22.32	Volume 1000 900	<b>Total</b> 22300.0 20107.8	
2023-03-28  Nature Of Trans  Purchase of ord  Date Of	saction: inary A shares		Exchange Aggregated	Price 22.30 22.34 22.32	Volume 1000 900 1900	<b>Total</b> 22300.0 20107.8	

2023-03-31	A shares	601615	Exchange		CNY - Chinese Yua	
Nature Of Tran	saction:			Price	Volume	Total
Purchase of ord	linary A shares			22.46	600	13476.00
. Gronado de ord	aniary / Condition		Aggregated	22.46	600	13476.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Tran	nsaction	Currency	
2023-04-12	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan	
Nature Of Tran	saction:			Price	Volume	Total
Purchase of ord	dinary A shares			21.90	200	4380.00
	,		Aggregated	21.90	200	4380.00
Date Of Transaction	Financial Instrument	Identification Code	Place Of Transaction		Currency	
2023-06-07	A shares	601615	Shanghai Stock Exchange		CNY - Chinese Yuan	
Nature Of Tran	saction:			Price	Volume	Total
	dinary A shares			16.77	500	8385.00
Purchase of ord						